2. For each of the following , indicate whether the factor influences the numerator or denominator of the z score and determine whether the effect would be to increase the value of z (further from zero) or decrease the value of z(closer to zero). In each case, assume that all other components of the z score remain constant.

a. increase the sample size

b. increase the population standard deviation

c. increase the difference between the sample mean and the value of mean specified in the null hypothesis.

8. a researcher would like to test the effectiveness of a newly developed growth hormone. The researcher knows that under normal circumstances laboratory rats each an average weight of mean =950 grams at 10 weeks of age. The distribution of weights in normal with sd =30. A random sample of n=25 newborn rates is obtained, and the hormone is given to each rat. When the rats in the sample each 10 wks old, each rat is weighted. The mean weight for this sample is M=974.

a. identify the independent and the dependent variables.

b. assuming a two tailed test, state the null hypothesis in a sentence that includes the independent and the dependent variables.

c. using symbols, state the hypothesis(H0 and H1)for this two tailed test.

d. sketch the appropriate distribution, and locate the critical region for alpha =.05

e. calculate the test statistics( z score )of the sample

f. what decision should be made about the null hypothesis, and what decision should be make about the effect of the hormone?

18. a sample of n=9 scores is obtained from a normal population distribution with sd=12. The sample mean =60. 

a. with a two tailed test and alpha =.05, use the sample data to test the hypothesis that the population mean is 65. 

b. with a two tailed test and alpha test and alpha =.05. use the sample data to test the hypothesis that the population mean is 55.

c. in parts (a) and (b) of this problem, you should find that mean =65 and mean =55 are both acceptable hypotheses. Explain how two different values can both be acceptable.

20. a sample of n =16 individuals is selected from a population that forms a normal distribution with mean=40. A treatment is administered to the sample and, after treatment, the sample is measured to evaluate the effect of the treatment. 

a. assuming that the population sd is 8, compute Cohen’s d to measure the effect size for a sample mean =42.

b. assuming sd=2, compute cohen’s d to measure the effect size for a sample mean of M =42.

c. assuming sd =8, compute Cohen’s d to measure the effect size for a sample mean of M=48.

d. assuming sd =2, compute cohen’s d, to measure the effect size for a sample mean of M =48.
